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[Participant ID

Participant Name

Test Center Name Vartmaan Online Services
Test Date 04/03/2021

Test Time 3:00 PM - 4:30 PM
Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

Q1 ofy 77, Afga 3R o Beew v w0 8 R F qu F wea §1 T anhe su e # 16 e A
3R AfeT ey 24 B F I FT THAT R, A OH el 5T FA F A AT F W = A 22

Ans  of 148
X2 24
X3 32
X416

Question ID : 9489118063
Option 11D : 94891132252
Option 2 1D : 94891132249
Option 3 1D : 94891132251
Option 4 1D : 94891132250
Status : Answered
Chosen Option : 1




Q.2

Zcot?h
afg 6=60° §, O ——; & AF AT F=T|
1—cot=8
as X143
X22
1
X3 —
V3
R
Question ID : 9489118070
Option 11D : 94891132278
Option 21D : 94891132280
Option 31D : 94891132277
Option 4 ID : 94891132279
Status : Answered
Chosen Option : 4
Q.3 T 4 1
—:==-:— § a x # AT I
25 x X 625 %
Ans X 1. 825
v 2125
<3125
X 4 25
Question ID : 9489118054
Option 11D : 94891132216
Option 2 ID : 94891132215
Option 31D : 94891132213
Option 4 ID : 94891132214
Status : Not Answered

Chosen Option :

Q4  ow gFEER ¥ FT TEGE 77/~ TAH Hr T F = A 40% F oAy wAE AR A 6% @, A v

=5 =1 e 7o T A
v 1.358.30

X 2 359.75

X 3. 362.50

X 4 760.40

Ans

Question ID
Option 11D
Option 2 1D
Option 31D
Option 4 ID

: 9489118059

: 94891132233

: 94891132236

: 94891132234

: 94891132235
Status :

Chosen Option :

Answered
1




Q.5 37 fweT &1 997 Fi,

Ans ?fl m*jﬁi
X 2 o=y

= 2
T TR

oras fau aw el & 99 aF FEy &, S A R A weg-gen ¥ awdl &

X 3 T gmAT
v 4 AT e
Question ID : 9489118477
Option 11D : 94891133907
Option 2 1D : 94891133908
Option 31D : 94891133906
Option 4 ID : 94891133905
Status : Answered
Chosen Option : 4
Q.6 ofy zue= (21.98x 21.98 + 21.98X+0.04X 0.04) T qoT F=7 &, & X =+ A A PFCl
Ans X1 0.20
X 2 0.02
2 0.08
< 4 0.40
Question ID : 9489118045
Option 11D : 94891132178
Option 21D : 94891132177
Option 31D : 94891132179
Option 41D : 94891132180
Status : Answered
Chosen Option: 3
Q.7 11 Feorst #7 Arew 44 ¥ ofy wger 6 TEm & Arew 39 §, v ifaw 6 gmmet wr oArew 48 F, A
T TEA AT Fifem
Ans X132
X234
<3 36
v 4 38
Question ID : 9489118073
Option 11D : 94891132292
Option 2 1D : 94891132289
Option 31D : 94891132291
Option 4 1D : 94891132290
Status : Answered
Chosen Option : 4




Q8 s ¥ TrW s forre [amdr #2018 # TSI el W T [N § TeATaa foram amam am?

Ans

X 1. Fgg g o

v 2 e Figer
X 3 Qfga erAT
X 4 e =fas

Question ID : 9489117906
Option 11D : 94891131623
Option 2 ID : 94891131622
Option 31D : 94891131621
Option 4 ID : 94891131624
Status : Answered
Chosen Option: 3
Q.9  sift siter &1 i W arEr TueTpaE, s 3efea e wetea wiEmat & sewme F fe wafe
&
Ans
v ﬂ-ﬂ@ﬁf s (Geomorphology)
X 2 Sferarg &+ (Climatology)
X 3. Fer mﬂ?vr“ (Soil Geography)
X 4 o = (Hydrology)
Question ID : 9489117923
Option 11D : 94891131691
Option 2 1D : 94891131689
Option 3 1D : 94891131692
Option 4 1D : 94891131690
Status : Not Answered
Chosen Option : --
Q10 yrdrr ardfewaser & s @ 59 &7 & Qa7 &9 F &7 & off =T v 27
Ans
v gaTE &T
X 2 gladmes av
X3 orufie a8
X 4 Eefea &v
Question ID : 9489117942
Option 11D : 94891131768
Option 21D : 94891131766
Option 31D : 94891131765
Option 41D : 94891131767
Status : Not Answered

Chosen Option :




Q1 o ‘Alage oreg ‘HIfEH (‘mausim’) & forar Imm &, former s w@laa 7

Chosen Option :

Ans x -
e
X 2 FTpd
<o e
v 4 TET
Question ID : 9489117924
Option 11D : 94891131696
Option 2 1D : 94891131694
Option 31D : 94891131693
Option 4 1D : 94891131695
Status : Answered
Chosen Option: 1
Q12 4 3 g
= ﬁ?; F Fgcad FAET (L.C.M.) #ra Hifw
Ans x 1. 8
X29
V'3 36
K428
Question ID : 9489118047
Option 11D : 94891132186
Option 2 ID : 94891132185
Option 3 1D : 94891132188
Option 4 1D : 94891132187
Status : Answered
Chosen Option: 3
Q.13 2 :
afof@a # @ #i9 @ &7 arg #r e (GDP) # waifas Iees &ar &7
Ans x
1. giadraes &y
Vo gaE av
X3 rgeifsT &7
X4 grafies &8
Question ID : 9489117940
Option 11D : 94891131758
Option 2 1D : 94891131760
Option 3 1D : 94891131759
Option 4 1D : 94891131757
Status : Not Answered




Q.14 ygiedr g?l‘ﬁ-‘ﬂ:lﬁ'UT e far@ % (International Bank for Reconstruction and Development) =

TS A8 & fhEs ®9 § J= S 87
K S Her i
X2 qRET Be 8%

v e dF
X4 ardT T 8%
Question ID : 9489117941
Option 11D : 94891131762
Option 21D : 94891131764
Option 31D : 94891131763
Option 4 1D : 94891131761
Status : Answered
Chosen Option: 3
Q.15 feed FRoe &1 I SOewH 238 m o T £ 162 m w&r 3T 120 km/h & =T F O T U TFRGE
TE =¥ e @9 # 9X &Y e
Ans = :
X110 §FT H
v212 Az A
X316 AFE H
X414 s A
Question ID : 9489118062
Option 11D : 94891132248
Option 2 1D : 94891132247
Option 31D : 94891132246
Option 4 ID : 94891132245
Status : Answered
Chosen Option : 2
Q.16 s fieiey # HIE 5500 cm® ¥ T SO THYSE F STET 4400 sq.cm @, G SHH FE AA
Ffam)
Ans  X1.180 cm
/< 2 380 cm
'3 280 cm
< 4 480 ecm
Question ID : 9489118064
Option 11D : 94891132255
Option 2 1D : 94891132253
Option 3 ID : 94891132254
Option 4 ID : 94891132256
Status : Not Answered

Chosen Option :




Q17 gamrer & Tl e ¥ Sl aaT AT AR = F sl w T e

X0 areh, wthe ik E

X 2 g, g%e 3R der
v 5 FTe, g AT drer
X 4 FTer, g0 3R "

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

9489117919

94891131675
94891131676
94891131674
94891131673

Status : Not Answered

Chosen Option : --

Q.18 220,000/~ #r TR | 8% IF == F T F 2 I W TR =T AT D, IR =7= Fr OET

T gy 3R T S R
Ans X 1. 23,220.00

< 2.73109.78

/< 3. 73200.00

v 4 33328.00
Question ID : 9489118058
Option 11D : 94891132229
Option 21D : 94891132230
Option 31D : 94891132232
Option 4 1D : 94891132231

Status : Answered
Chosen Option : 3
Q19 sher = SR (Right to life) sTReT TRemer & 5w et & Tga Yai=r &ar aar §2
Ans

X 1. HT=oe 14

v 2 IS 21

X 3 =0T 16

y aﬂﬁ}a 15
Question ID : 9489117928
Option 11D : 94891131710
Option 21D : 94891131709
Option 31D : 94891131712
Option 4 1D : 94891131711

Status : Answered

Chosen Option : 2




Q20 gy AfEer AT RecwieFRA (Silappadikaram) fFadr Ffa or?

Ans 0
X 1. Tagaeaa 1 (Thiruvalluvar)
X 2 FIfeerd (Kalidas)
v 3 ST AEITS (llango Adigal)
X 4 "HcdaX (Chathanar)
Question ID : 9489117910
Option 11D : 94891131637
Option 21D : 94891131638
Option 31D : 94891131639
Option 4 1D : 94891131640
Status : Not Answered
Chosen Option : --
Q.21 2 2
1195°—11&.4
—— " F AT AT HAT|
{119.5—-116.4)
Ans  X1.217.9
X2 3.1
V'3 2359
X 4 2351
Question ID : 9489118044
Option 11D : 94891132173
Option 21D : 94891132176
Option 31D : 94891132175
Option 41D : 94891132174
Status : Answered
Chosen Option : 2
Q.22 grd Fargeaar (Provincial autonomy) @t #RE TR HTafms ¥ Tgd afva Rwr T o
Ans o1 1935
X 21947
X 31937
< 41920
Question ID : 9489117917
Option 11D : 94891131666
Option 21D : 94891131668
Option 31D : 94891131665
Option 41D : 94891131667
Status : Answered

Chosen Option :

1




Q.23 1
(22+8V6)* = AT F1F HTATI

Ans - X181 246

X2 16+ 26

X3 4—4/6

v 4446
Question ID : 9489118051
Option 11D : 94891132202
Option 2 1D : 94891132201
Option 31D : 94891132204
Option 4 ID : 94891132203

Status : Answered
Chosen Option : 4
Q.24 e & ¥ T JEaSST Teda 3@ (thermonuclear fusion reaction) T T 3a@0T 87
A
"X AR g 3ees

X 2 FATHFT vF FEFSA 7 AT

V3 grEEET 8§

X4 Fiftdh 51/
Question ID : 9489117930
Option 11D : 94891131720
Option 21D : 94891131719
Option 31D : 94891131718
Option 41D : 94891131717

Status : Not Answered

Chosen Option :

Q.25 a3 e s F GODOWN #1 IQFQYP férmm =iar # 3T TRUNK =1 VITWPM forar =ar &1 381 %2

oo F BOXES &' frw yor for@r smeem?

ans X1 ZQVCQ
X 2 DQZUG
X 3 ZQvac
v+ DQZGU

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118474
94891133893
94891133895
94891133896
94891133894
Answered

4




2 =i ¥ frw oRAT T F FeET & WA sER A 27

Ans

X1 BcdrEee
X 2 qf¥EH s
v 3 3fEer

X 4 mEr

Question ID
Option 11D
Option 2 1D
Option 31D
Option 4 1D

: 9489117933

: 94891131730

: 94891131729

: 94891131731

: 94891131732
Status :

Chosen Option :

Answered
1

Q.27 Frr fem o1e de 1 SAAYEE T S AR 9A fF s WA RS (7) F T W FHa @ g

Ans

HTTefT?

14

?

X2 38
V'3 10
x4 21

13| 3 2|7
00 DG
X113

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118486
94891133944
94891133942
94891133943
94891133941
Answered

1

Q28 o3 1 TR W AT T 5 CIE-OIE oS B FAT FET FT 7

Ans

X 1. 8% UE (asteroids)

X 2. 8-3TH (geoids)

< 3. TIIOTIY (galaxy)

v 4 Fehr ™E (meteoroids)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

9489117922

94891131685
94891131688
94891131687
94891131686
Not Answered




O fyafde C @ wHE ¥ g ¥ ST @ AT dar B2
Ans o1 aBrardy

X 2. greggrerar

v 3 et

X 4 IUSATST
Question ID : 9489117912
Option 11D : 94891131645
Option 2 ID : 94891131648
Option 31D : 94891131646
Option 4 ID : 94891131647
Status : Answered
Chosen Option : 3
Q.30 #= Ru oiv gew-ae # A—B = ¥ ¥ - A, B #Y 7 (T FS 3w gaeh) ¥ @ A By aw o w5
Wm?wmﬁ%FﬁEﬁwmé‘?
D F;\
e
Pather daughter
& o e gd\%
ler B lusban c
Bom-iﬁlaw
E
("esT - Father - T, Daughter - 941, Sister - ¥g4, Husband - 5fa, Son-in-law - )
A
"X OEr
a3
v 2 ofg/as
53 m
X 4 R
Question ID : 9489118480
Option 11D : 94891133917
Option 21D : 94891133920
Option 31D : 94891133918
Option 4 1D : 94891133919
Status : Answered
Chosen Option : 2




@3 7 14, 13, 12, 20, 11, 15 3R 8 Fr AfHw 7T BT

Ans X'1.115
X212
X3 11
vi125
Question ID : 9489118071
Option 11D : 94891132282
Option 21D : 94891132283
Option 31D : 94891132281
Option 4 ID : 94891132284
Status : Answered
Chosen Option : 4
Q.32 : 3
39 faFeT & 999 FI, F 7T T HET ¢
ans X1 UF
v 2 QK
X3 TG
X 4 VE
Question ID : 9489118493
Option 11D : 94891133969
Option 2 1D : 94891133970
Option 31D : 94891133971
Option 4 1D : 94891133972
Status : Answered
Chosen Option : 2
Q33 gag fem $r 3TURoT F s § P RO gEnr aftae & orr T ar?
Ans * :
v . geolzs e (Brundtland report)
X 2. FErEsET =T (Johannesburg Declaration)
/X 3. TSET 21 (Agenda 21)
X 4 @y =T (Rio Declaration)
Question ID : 9489117934
Option 11D : 94891131735
Option 2 ID : 94891131736
Option 31D : 94891131734
Option 41D : 94891131733
Status : Not Answered

Chosen Option :




Q3% s x>0f ar (1+2)(1+2)(1+2)(1+L) & s s Hfw

x+3

+5
1
X2
X+5
x+1
Xs
5
., X+5
« 4.
x+1
Question ID : 9489118067
Option 11D : 94891132265
Option 2 ID : 94891132266
Option 31D : 94891132267
Option 41D : 94891132268
Status : Answered
Chosen Option: 4
03 oot ¥ B o T F FomE REER, 2018 ¥ FEATAT AT T o
Ans =
X 8T e
v 2w Sfaesw o
X3 BreT o
X4 Fltm e
Question ID : 9489117907
Option 11D : 94891131626
Option 21D : 94891131625
Option 31D : 94891131627
Option 41D : 94891131628
Status : Not Answered
Chosen Option : --




Q.36 aErm & B R F AGCAT el F Hew AarH! H WS F We-Tre TS & AT F

Ans

HEZTET Aol Fore & fore Tl e forar ar?
X giE wfdee

X2 FEaz g

v 3 Forhear e

X 4. ARG A=

Question ID : 9489117920
Option 11D : 94891131679
Option 2 1D : 94891131677
Option 31D : 94891131678
Option 4 1D : 94891131680
Status : Answered
Chosen Option : 4
O e s U T w9 (TISCO) &1 e frw a9 gam am
Ans 1. 1906
v 21907
< 31948
X 41915
Question ID : 9489117939
Option 11D : 94891131753
Option 2 1D : 94891131754
Option 3 1D : 94891131756
Option 4 1D : 94891131755
Status : Not Answered
Chosen Option : --
.38 ¢
% el & ¥ i @ Tow WD ¥ A T 4§
Ans x 1.
ﬁ.@'ﬁ'ﬂ', ﬁmﬁ U 2To9aT (Resources, Values, and Development)
v 2 oradt HTE SfEar (Poverty of India)
X s
HTA E‘nlﬁTrITﬁflE Eﬂgﬁﬁﬂ (On Economic Inequality)
X 4 oradt vz wfAT (Poverty and Famines)
Question ID : 9489117905
Option 11D : 94891131620
Option 2 1D : 94891131619
Option 31D : 94891131617
Option 4 1D : 94891131618
Status : Not Answered

Chosen Option :




Q.39 #Frr faw 71w s 3T Fr A T Failad FRETRET F1 3eTas 1 3T 997 & 9 @ s
afF ® ¥ FUA F T = 87

HUA

T TRET T WHETSF FF THE # § 15 T, 397 s & Aar-eger ae-fEg
Sar & &= 8, o 38 Taegew & Biae &9 @ #18 F F5 [Wen Hee)

FIETET

(i) 9 @ AT GRS HA AT & FAE HN WA FE TEE H § F5 0 o, 39
oHElEEE @ ge-faae gfagfEr & anr aw & o a9

(i) FEUT FT Fad TARHAET AN WHAITAF FR THT F SRS H qe-faae g & s
o #r AT &

(i) TATTATET T TSR FA TR & TNt & 3w Har-feger a=-fae afEitEEr § amr
a7 & T deaiza & S =g

A X 1. raer FTIETET (i) e T B
X 2 gafr Frdartear (i), (i) 3 (i) 9o Far §
' 5. FErer AT (i) T (i) 9o = g
X o Faer HETEr (i) AR (i) ITHT w2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option : -

9489118481

94891133922
94891133924
94891133923
94891133921
Not Answered




Q.40 & R v Fue 3R Frewst #1 caeEs dema S 3R 99 R B9 @ Trees aifeEs w1 8 st

FT U TS 57

FYA

(i) ABC TR & Wi o= a Wl sl & §T 7 §5 9NdE AW g g

(i) 77 AT # 7o WA it w8 we T #

(i) 37 e # 3o AT Be W I §, Wg F15 fEewe 7 R S g

ey

(i) ABC TEatle & g S arer AR it F i dest o s ffms &
(i) ABC [T ¥ g S arer e =it & o aRde Jwe of 5 J 7
(i) ABC 1= # 7o Aesds WF o0 §, g #18 Fve B 78 WO I g

A X1 Faer Tses (i) 3R (i) e = B
X 2 Faer TSRS (i) 9T FLaT B
v 5 whaer faswy (i) 3T (i) 9o =T
X 4 Faer frssy (i) 9T FXaT B

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118482

94891133928
94891133925
94891133926
94891133927
Not Answered

Q41 Zex (a+b+c)=6, a2 +b?+c?=2 g, d ab+bc+ca & AT AT HfFT)

ans X136
X234
Vs 17
X4 4

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status
Chosen Option

9489118068
94891132270
94891132269
94891132272
94891132271
: Answered

03




2 oz F ATTH T T o 2
e K aremet

X 2 &=

X 3. trRET

v 4 oFmer R (spiracles)

Question ID : 9489117913
Option 11D : 94891131649
Option 2 ID : 94891131652
Option 31D : 94891131650
Option 41D : 94891131651
Status : Answered
Chosen Option : 4
Q.43 Frr Ru v et 1 WA TS Y AR 74 T 5w g REd (2) F T | FA @ s
HTTT?
B F ‘ J ‘ N ?
Ans x 1. S
X2 Q
X3V
v R
Question ID : 9489118499
Option 11D : 94891133995
Option 2 ID : 94891133994
Option 31D : 94891133996
Option 4 ID : 94891133993
Status : Answered
Chosen Option: 4
Q.44 1
A V625 -+ x = - & ar x F AT 7T HiaT)
Ans 1 15625
X2 3125
X 31225
X 4125
Question ID : 9489118066
Option 11D : 94891132263
Option 2 ID : 94891132261
Option 31D : 94891132264
Option 4 1D : 94891132262
Status : Answered

Chosen Option :

1




Q.45 =z =& ¥ oI 5Ear A1 fifew, SEE 166 s oY wog §ear &t 4, 6, 9 3t 15 & Renlew =
9T 3 91 F=aT B

ans X1 163
V217
X3 16
X413

Question ID : 9489118052
Option 11D : 94891132205
Option 2 1D : 94891132207
Option 3 1D : 94891132206
Option 4 1D : 94891132208
Status : Not Answered
Chosen Option : --

W &t & 4% W gl 3R S (NPK) #701 a2id §7
Ans ‘, 1.
SIS, BIERRH, MeTA (Nitrogen, Phosphorus, Potassium)
52
ATEerSS, MefATH, BIERY (Nitrogen, Potassium, Phosphors)
X 3
Efee ofis, wEwRE, deRaA (Nitric acid, Phosphorus, Potassium)
X a4
AEaSA, HIERE TfdE, Mefa (Nitrogen, Phosphoric acid, Potassium)

Question ID : 9489117915
Option 11D : 94891131660
Option 21D : 94891131659
Option 31D : 94891131658
Option 4 1D : 94891131657
Status : Not Answered
Chosen Option : --




Q47 =7 fewew F1 T Y, W SEY oreg @ TE T E, I WY oA F RS U= F L

ST - W FwAE 7

Ans x o
. g
X 2 Fwex
X3 TEd
ER I
Question ID : 9489118476
Option 11D : 94891133902
Option 2 1D : 94891133901
Option 3 1D : 94891133904
Option 4 1D : 94891133903
Status : Answered
Chosen Option : 4
Q48 Zrr T v R 1 3o HU 3R THEE T PQRS M &G AT Hifew
A
" 1102 cm?
X 2119 cm?
#3108 cm?
X 4 114 cm?
Question ID : 9489118072
Option 11D : 94891132286
Option 2 1D : 94891132287
Option 31D : 94891132285
Option 4 1D : 94891132288
Status : Not Answered

Chosen Option :




Q.49 Ify Tdr sr #F OLYMPUS &7 18201512241114 f3r@r Siar @, & 38 #wr & MEETING &7 #ar forar

Ans

ST ?

X 11381962144
X 2 6431814812
V5 6138194412
X 4 6218418134

Question ID

Option 11D :

Option 2 1D
Option 31D
Option 4 ID

Status

Chosen Option :

: 9489118479

94891133915
194891133914
194891133916
194891133913
: Not Answered

Q.50 &y o aTw e 1 eSS TS Y AR 9A fF s WA FES (7) F T W T @ @

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118483
94891133931
94891133930
94891133929
94891133932
Answered

4

Q51 e o #r e 7 em dR R FEE 25 cm ¥ $EF TF T5T F S96a A A0

Ans

/< 1. 500 cm?
X 2 225 cm?
X 3. 450 cm?
v 4 550 cm?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118065
94891132259
94891132258
94891132260
94891132257
Answered

4




@9 oot @ Wi W ARSI WU F AR At e w748
e X geTeoT v afieatEa B TEaTaT # 3RER

X 2 gaufas 3R & Awr

X s gHAHT FT HOER

v o TR 741 v fnyew afae wErmar & sfewr

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489117929
94891131714
94891131715
94891131713
94891131716
Answered

4

¥ e @ERar TeaE, 2019 @ Rvmasg F@ o4
Mo X 1 seaTaRa

X2 oI
X 3. Frfgiomr
v 4 rEe

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

9489117908

94891131630
94891131631
94891131632
94891131629
Not Answered

Q.54 fy = wfgert i 7 wEfrar v F # 58 gt F 9@ A wear €, A 12 afgenst sk 8 wefrat
F IE FE F G TS A el TAT TET?

Ans 1. 29 ﬁ?-l'
2. 7 ﬁ;r
3. 262 ﬁ?f
414 f&=t

Note: For this question, discrepancy is found in question/answer. So, This question is
ignored for all candidates.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

9489118061
94891132241
94891132244
94891132242
94891132243
Answered

3




S orm F i @ sy ufess g 6 3
Ans of 1 373R

X2 g
X3 s
X 4 STFATEE

Question ID : 9489117916
Option 11D : 94891131663
Option 21D : 94891131661
Option 31D : 94891131662
Option 41D : 94891131664
Status : Answered
Chosen Option : 1
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Question ID : 9489117938
Option 11D : 94891131750
Option 21D : 94891131749
Option 31D : 94891131751
Option 4 1D : 94891131752
Status : Not Answered
Chosen Option : --

Q57 36, 53, 50, 43, 57, 50, 40, 35, 39 3K 34 & FAGK AT AT AT
Ans  of 1437

< 2 50

<3524

X 4 43

Question ID : 9489118069
Option 11D : 94891132274
Option 2 1D : 94891132273
Option 31D : 94891132275
Option 4 ID : 94891132276
Status : Not Answered
Chosen Option : --




¥ PR & @ Fi9 @ wgdh T w1 Aa 7@ 8

Ans

X FEEET g Fer
v 2 gt =t
X 3 =gl F=r

/4 T FAT
Question ID : 9489117931
Option 11D : 94891131724
Option 21D : 94891131721
Option 31D : 94891131723
Option 4 1D : 94891131722
Status : Answered
Chosen Option : 2
Q.59 gt 56 3T 84 & FEgeaH TAMES (L.CM.) 3 aAgeas TAME® (HCF) & 3o A Hifsre
Ans 1.7 =2
X23:2
vi3i6:1
X42:3
Question ID : 9489118050
Option 11D : 94891132200
Option 21D : 94891132199
Option 31D : 94891132197
Option 41D : 94891132198
Status : Answered
Chosen Option: 1
Q.60 7 gag # 7, Gex & 8 R aw F 3 I W ¥ 5T ISR W O G F o aoiw el @ 2
Ans 2
X2
3
2
X2 —
15
8
X3 —
15
3
Y
2
Question ID : 9489118049
Option 11D : 94891132193
Option 21D : 94891132196
Option 31D : 94891132194
Option 4 1D : 94891132195
Status : Answered
Chosen Option : 4




Q.61 7w & T &9Ar & I F 742,000/~ F 3w | 3Ea welr 9O T T TOEE AT 10% % e W

a9 femm 3w oW SR F 10% Fr e W dEn wW & A o g
Ans X 124,200
< 224,000
X 3 35,200
v 4 21,400

Question ID :

Option 11D
Option 2 1D
Option 31D
Option 4 ID

Status

9489118060

: 94891132237
: 94891132240
: 94891132238
: 94891132239
: Not Answered
Chosen Option :

Q.62 smirm Ffaure & wnfEer oo, FHEA U6 qyed @ R e du & dfeue & o @ 32

MV e % AR @
X 2 yroTels & gfeus @
X fgem Fafqua @
X o+ FgFT T AN & e &

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489117927
94891131708
94891131705
94891131706
94891131707
Answered

4

Q63 m=ar 683479 I 8 3T 4 F T AFT F 3T AT DT

Ans < 1. 80000
v 2. 79600
« 3. 76600
X4 7

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118048
94891132190
94891132192
94891132191
94891132189
Answered
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Ans ?(1341%
v 2 gga &1 9fa
X3 @
X 4 SAE

Question ID : 9489118478
Option 11D : 94891133910
Option 2 1D : 94891133909
Option 31D : 94891133912
Option 4 1D : 94891133911
Status : Answered
Chosen Option : 4

G Tl # @ Fia @ SeulEt & s & g0 = 3

Ans

X 1. F9r (Genus)
v 2 =T (Species)
X 3. 90T (Order)
X 4 et (Family)

Question ID :
Option 11D :
Option 21D :
Option 31D :

9489117914

94891131655
94891131656
94891131653

Option 4 1D : 94891131654
Status : Answered
Chosen Option: 1

Q.66 2011 1 AR T & HTHR, F F g (AT 1000 qRui W Agewst F Fwm) frmr
&7

Ans o 11084

< 2 963

< 3 1058

< 4943
Question ID : 9489117926
Option 11D : 94891131703
Option 21D : 94891131704
Option 31D : 94891131701
Option 4 1D : 94891131702

Status : Answered
Chosen Option: 1
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ans of 11716
X2 1718
X 31717
X 41715
Question ID : 9489117921
Option 11D : 94891131682
Option 21D : 94891131684
Option 31D : 94891131683
Option 41D : 94891131681
Status : Answered
Chosen Option : 1
Q68 =rura T FONIFT W F v frw TEEfaE acg A AETEaT B 37
s X fEer
X 2 3w
v 3 HeEie
X 4 RETH
Question ID : 9489117911
Option 11D : 94891131641
Option 21D : 94891131642
Option 31D : 94891131644
Option 4 1D : 94891131643
Status : Not Answered
Chosen Option : --

9 37 BpeT FT TOT FL, F 3T T HEET T
e X Tareeg

X 2 HTT
X 3. Tl
VAR i

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118495
94891133979
94891133978
94891133977
94891133980
Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489117909
94891131635
94891131633
94891131634
94891131636
Answered

1

Q.71 A 3t B & 2 220,000/ 3T 216,000/- F B3 #3F v w=er #11 3 7§ & @1, C, ¥15,000/-
1 e 3% 39 @i A iffer g Srar g1 #4,350/- & oAE e # B @ e (z #) Gaer

e
Ans X 1.22,000

< 221,850
v 3 21,600
< 4 21,760

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118057

94891132225
94891132227
94891132226
94891132228
Not Answered

e afe V484V25 + x =22 ¥, & x = TIF T STl

Ans  X1.100
X275
X 3 50
v 25

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118053

94891132212
94891132210
94891132209
94891132211
Not Answered
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Ans

1. 2000
v 21400
« 31500
# 41000

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118046

94891132184
94891132183
94891132181
94891132182
Not Answered

Q.74 arer TRaOT &g STERAT T ¥ v, 3= aTw RRaw (global tiger day) F& AT WA ¥7

e X1 25 SemE
v 2 29 S
X320 SR
X 4 26 e

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489117925

94891131700
94891131699
94891131697
94891131698
Not Answered

Q.75 smra TR & AT GO e @ ganT S v e R oe @ A aar 87

Ans

v 1. TTETE (SAKSHAT)

X 2w (EDUCATION)
X 3. TAESHRET (NCERT)
X 4 TAFTEINTE (NIOS)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489117936
94891131743
94891131741
94891131742
94891131744
Answered
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Q.76 el FEre WX 10% =S =t 7 aX 9 gWY a9 F Twgig oA 2154/ WIF g &, Aee A
EaiEl

Ans o 1.21,400.00
< 2 21,540.00
/< 3. ¥1,200.00
< 4 22,750.50

Question ID : 9489118056
Option 11D : 94891132223
Option 2 ID : 94891132221
Option 31D : 94891132222
Option 4 1D : 94891132224
Status : Answered
Chosen Option : 2
Q.77 : e
T 7 ¥ Fi7 O I5gse P g g9fog 767 22
Ans  of 1. www.onlinesbi.com
< 2. www.ignou.ac.in
< 3. www.education.nic.in
< 4 www.ncert.nic.in
Question ID : 9489117937
Option 11D : 94891131747
Option 2 ID : 94891131746
Option 31D : 94891131748
Option 41D : 94891131745
Status : Answered
Chosen Option : 2
Q.78 325000/~ #r T ve ARET WrUNT =S # T 9T 4 T F 331,500/- g AT §l @S &L A
Frfem)
ans X 1. 5.5%
X 2 45%
v 3 6.5%
X 4 3.5%
Question ID : 9489118055
Option 11D : 94891132219
Option 21D : 94891132218
Option 31D : 94891132220
Option 4 1D : 94891132217
Status : Answered
Chosen Option: 1
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Ans

2,3,7, 16, 32, 57, ?
v .93
#2100
<3107
x4 92

Question ID
Option 11D
Option 2 1D
Option 31D
Option 4 ID

Status

: 9489118488

1 94891133951
: 94891133949
: 94891133950
: 94891133952
: Not Answered
Chosen Option :
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Ans xmar”snﬁqgﬂ?r
v 2 BT TS 3ege FerH

X 3 FJ Y A e

X 4 I T 91E
Question ID : 9489117904
Option 11D : 94891131615
Option 21D : 94891131616
Option 31D : 94891131614
Option 41D : 94891131613

Status : Answered
Chosen Option : 2
Q.81 Ferer TET 3e1E (Gross National Product) & 39#H#a= (depreciation) e 9T STo TR & F4T Fal
ST 87
e K e s
v 2 YE T 3ca1e
LY

25 3. Hehdl ERe] 3cdTe

X4 e FT
Question ID : 9489117943
Option 11D : 94891131772
Option 21D : 94891131770
Option 31D : 94891131769
Option 4 1D : 94891131771

Status : Answered
Chosen Option : 2




32 oot @ W HESET WIS H T aREs S & fiua §7
Ar X . e wEaT vd Rer @ersa (OECD)

X 2 qUfTe ¥gar d% (ECB)

v o HAUSET 7T F9 (IMF)
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489117935

94891131739
94891131737
94891131740
94891131738
Not Answered
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X
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X+ b

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489117932

94891131728
94891131726
94891131725
94891131727
Not Answered

Q84 3y Ryeew & 9TF &Y, S A & TE H@AT FH G2 A (?) F TAA G A
me, hx, cs, xn, si, 7
Ans X-L mc
X 2 oe
X3 ex
v 4 nd

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118485

94891133939
94891133940
94891133938
94891133937
Not Answered




Q85 marenr el F Aged H WL HETT F9 ¥ FT g TeAAT TAT A?

Ans

211918 & 1920 7=
X< 21915 & 1919 T
V'3 1920 & 1922 I
241930 & 1935 T

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489117918

94891131672
94891131670
94891131671
94891131669
Not Answered

Q.86 A= Re w1e aR-ae & wefter & R W g s # gfore faRer gxer wmn 3 e

Ans

3T w AR 38F A RU v ged @ 3w &)

Transportation

2 Direct material

.
"““W/vm cost 2%
oy
ooy
b )
S
| =

Direct Labour
cost 28%

facturing

L=

s

cost 30% ﬁ
ke

Advertisement
1%

FeeT s @A (Direct labour cost) X §T ST & WG Irows & FR U H A A Hifael

X 1. 150°
v'2.100.8°
<3 110.9°
< 4 90°

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118489

94891133956
94891133953
94891133955
94891133954
Not Answered




Q.87 =t fw 1w am-anw #F B gy seg SR B S ammt X, Y #R 2 gaw ST awed %

Ans

IR (9 TF #) F 3@ T 9w §)

Production of Chocolate (in tonnes) by three branches of a dairy
product companies X, ¥ and Z over the years

60
55 55
50 50 50
45 45 45
40 40 40
35 35
I 30 I I
0 I I I
1 b4 3 4 5

Years

& & 88 3

I~
=1

Quantity in thousand tonnes
=
=]

X mY mZ

¥ 3 F 5 F v X F g soaes Ak 59 aEl & amen ¥ F sied seTes & e A

el

X1.3:04
V2 28:29
X310 : 20
X4 25 : 30

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

9489118490

94891133960
94891133958
94891133957
94891133959

: Not Answered
Chosen Option :




Q.88 iy &r 7 A 1 LUWISF HeATS FY AT ITF AT T 70 9o F Feaw &

- SEer | FeRr

2012 410 |300 [250 [280 |440
2013 |500 |400 [280 [320 |400
2014 (450 |450 [240 [260 | 350
2015 320 |500 [400 [400 |380
2016 |500 |430 |540 |[350 |420

9T & 9T e U=t O R 8% A $r3t 99 & v geieer # orfae g S anfiat & e
Tefr aut o She P =9 & AR F onfie g arer it Fr tea FEm, 3eaw 98w

e # e 32

e X mem g
V2 R
X 3. R
X4 OsTE

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118491

94891133962
94891133961
94891133963
94891133964
Not Answered




Q.89 #= R ow M WX F AETEF WA B, B G & @w fRe a8 & e S g @
affes ool F g I U U suw Fr g T 3

Ans

12

Jewellery,
a8°

Biochemicals,

Pharmaceuticals,
o

Ma;g;me, ceréali,

64°

Electronics,
55*

Textile,
58°

54

afy 37 I F S 3 9T 2 10 FUT F 7 =J7 Fr 2 F@, O 37 ¢ FT@TE (Biochemicals)

3R smpE (jewellery) T Fw ARt frae i (z ) = $r w2

2 1.2,60,000
V2 25 Fs
3 15,00,000
X 42 FE

Question ID
Option 11D
Option 2 1D
Option 31D

Status

: 9489118492

: 94891133968
: 94891133965
: 94891133967
Option 41D :

94891133966

: Not Answered
Chosen Option :

WO S & E E & A T B2

Ans

24
20
130
34

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118501

94891134004
94891134003
94891134001
94891134002
Not Answered
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Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118500

94891133999
94891134000
94891133998
94891133997
Not Answered

Q.92 Fry & o1 g H 4 It - A, B, C 3R D &7 WIS 2 9w g1 gl F & € =, 39

Auhr F T et Fr FEma F g F goT A 37 FET F TR e § S e 96 w1 §
FaRF Jod B 39 AT A FEOS F1 §, S sfwm wHe F §1 ge7 € 3 D 37 e @ HEhe
FIa &, F FAn 3Eeh Hiv drpa TEg o | A & oF el F En 39 A B e A

Question ID :
Option 11D :

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118498

94891133990
94891133992
94891133991
94891133989
Not Answered
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242

16 20
Ans K115
V28
X3 0
X 4 43

Question ID : 9489118484
Option 11D : 94891133935
Option 2 ID : 94891133933
Option 31D : 94891133936
Option 4 ID : 94891133934
Status : Not Answered
Chosen Option : --

Q94 37 ReeT & TUT HY, S T BT v gt & S F T F TE T & aar B

Ans

v

OC
oo

Question ID : 9489118496
Option 11D : 94891133983
Option 2 ID : 94891133984
Option 31D : 94891133982
Option 4 ID : 94891133981
Status : Not Answered
Chosen Option : --




Q.95 Gr=ffaT & € FiF 1 BT, 3R IUEET & a0 F 169 MR F o 3R HNISH e ST ST §7

Ans

XU
v W
X3 0
X4V

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

9489118502

94891134006
94891134008
94891134007
94891134005
Not Answered

Q96 =7 FEAr F TIT FI, S A & 7 AN F weA BES (?) F T W 37 TR T

Ans

12: 44,27 51,2, BT

X187

v'2 177
X3 107
X 4117

Question ID

Option 11D

Option 2 1D

Option 31D

Option 4 ID

Status

Chosen Option :

: 9489118487

: 94891133945
: 94891133946
: 94891133947
94891133948
: Not Answered




Q97 zg R # 99T &Y, S A R 7T FyAt & oewd ad @ wear ¥
FYUT 1 : Tl FA JAATRAT §
FUT 2 : Tl FEAETRET o 2
U 3 : T A HAATET F |
e X mehr ey 9§
Xz.gﬁiﬁ@m§l
v 3 @l 9@ AErer §
2(4.@3-1??:!1%@31?%

Question ID : 9489118475
Option 11D : 94891133899
Option 2 ID : 94891133900
Option 31D : 94891133898
Option 4 ID : 94891133897
Status : Not Answered
Chosen Option : --

Q.98 FfT 3o 1 W 340 FeH 2ier 3N IWS A1g AW AT 90 FEH iF| 3EF AE Ig G0 F5A 130
FeA gizTl T, 98 HO GIT HEAT 00 FTA SlETl T F, T AU qC HIHC AN 240 FA S aw
AT 3 AT g @ e gy o fow Ram A P2

Ans X1 200 FEH, EOT
/<2100 &eH, e
X = 330 FeH, B
W 4 230 FEH, e

Question ID : 9489118497
Option 11D : 94891133987
Option 21D : 94891133986
Option 31D : 94891133988
Option 4 ID : 94891133985
Status : Not Answered
Chosen Option : --




Q.99 &#rr & 7 IR FFEE F ¥ 99 gl fRh g @ oea ¥ AR v gl T 3 e A

T F
XX X =
wx oxx X
XX X XXX
Figure 1 Figure 2 Figure 3 Figure 4

X0 gl 3
X 2. TPia 4
X 3 HTpia 1
4 HTRTT 2

Question ID : 9489118494
Option 11D : 94891133975
Option 21D : 94891133976
Option 31D : 94891133973
Option 4 1D : 94891133974
Status : Not Answered
Chosen Option : --

Q.100 =y v u= Fr IR erT-er vl g o ¥ @ T B F O 9 el W Hi W e
grir?

-
s ?ﬁﬂ

x>0

X oY

a

A

Question ID : 9489118503
Option 11D : 94891134010
Option 2 ID : 94891134012
Option 31D : 94891134011
Option 4 1D : 94891134009
Status : Not Answered
Chosen Option : --
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